C:# Finding Product (3 x 2) Name:

Solve each problem. Answers
1) A golf course driving range goes through 309 golf balls aday. How many golf balls would
they go through in 72 days? 1
2.
2) Theice machinein the lobby of a hotel makes 967 pieces of ice aday. How much ice
would it have madeif it ran for 34 days? 3.
4.
3) Each day the gumball machinein the mall sells 957 gum balls. How many gum balls
would they have sold after 91 days? 5.
6.
4) A school bought 428 boxes of computer paper for the computer lab. Each box had 98
sheets of paper inside it. How much paper did they buy total ? 7.
8.
5) A gas station sells 356 gallons of gas an hour. How much gas would they have sold after
30 hours? 9.
10.

6) A palet of toggle bolts weighs 846 kilograms. If awarehouse has 74 pallets, what is their
total weight?

7) A movietheater sells 188 buckets of popcorn aday. If each bucket has 43 pieces of
popcorn in it, how many pieces do they sell in aday?

8) If anindustrial machine could make 497 pencilsin a second, how many pencils would it
have made in 93 seconds?

9) A pizzachain uses 758 grams of cheese on their pizzas. If they sold 33 pizzas, how many
grams would they have used?

10) A vat of orange juice contains the juice from 930 oranges. If acompany has 97 vats, how
many oranges would they use to fill them all?
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ﬂh Finding Product (3 x 2) Name: Answer Key

Solve each problem. Answers
1) A golf course driving range goes through 309 golf balls a day. How many golf balls would
they go through in 72 days? 1 22,248
2. 32,878
2) Theice machinein the lobby of a hotel makes 967 pieces of ice aday. How much ice
would it have madeif it ran for 34 days? 3. 87,087
4. 41,944
3) Each day the gumball machinein the mall sells 957 gum balls. How many gum balls
would they have sold after 91 days? 5. 10,680
6. 62,604
4) A school bought 428 boxes of computer paper for the computer lab. Each box had 98
sheets of paper inside it. How much paper did they buy total ? 7. 8,084
8. 46,221
5) A gas station sells 356 gallons of gas an hour. How much gas would they have sold after
30 hours? 9. 25,014
10. 90,210

6) A palet of toggle bolts weighs 846 kilograms. If awarehouse has 74 pallets, what is their
total weight?

7) A movietheater sells 188 buckets of popcorn aday. If each bucket has 43 pieces of
popcorn in it, how many pieces do they sell in aday?

8) If anindustrial machine could make 497 pencilsin a second, how many pencils would it
have made in 93 seconds?

9) A pizzachain uses 758 grams of cheese on their pizzas. If they sold 33 pizzas, how many
grams would they have used?

10) A vat of orange juice contains the juice from 930 oranges. If acompany has 97 vats, how
many oranges would they use to fill them all?
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C:# Finding Product (3 x 2) Name:

Solve each problem. Answers
25,014 87,087 22,248 62,604 41,944
8,084 46,221 10,680 32,878 90,210 1.
1) A golf course driving range goes through 309 golf balls a day. How many golf balls would 5
they go through in 72 days? '
3.
2) Theice machinein the lobby of a hotel makes 967 pieces of ice aday. How much ice
would it have made if it ran for 34 days? 4.
5.
3) Each day the gumball machinein the mall sells 957 gum balls. How many gum balls
would they have sold after 91 days? 6.
7.
4) A school bought 428 boxes of computer paper for the computer lab. Each box had 98
sheets of paper inside it. How much paper did they buy total? 8.
9.
5) A gas station sells 356 gallons of gas an hour. How much gas would they have sold after
30 hours? 10

6) A pallet of toggle bolts weighs 846 kilograms. If awarehouse has 74 pallets, what is their
total weight?

7) A movietheater sells 188 buckets of popcorn aday. If each bucket has 43 pieces of
popcorn init, how many pieces do they sell in aday?

8) If anindustrial machine could make 497 pencilsin a second, how many pencils would it
have made in 93 seconds?

9) A pizzachain uses 758 grams of cheese on their pizzas. If they sold 33 pizzas, how many
grams would they have used?

10) A vat of orange juice contains the juice from 930 oranges. If acompany has 97 vats, how
many oranges would they use to fill them all?
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